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I. Translate into Russian:
1. That air and water pollution is reaching a dangerous level is realized by everyone.
2. It is the growth of industrialization that brings about ecological problems.
3. The more cars are being used, the greater air pollution is becoming in supercities.
4. One must know that the study of environmental problems via satellites (спутники)  is becoming global.

4 р
II. Write questions to the sentence:
People throughout the world are becoming more worried about the environment.
1. Who…..?
2. What….. about?
3. Are………?
1. 3 р
III. Choose the proper form of the verb in brackets:
1) The main building of the university ( is reconstructing, reconstructs, is being reconstructed) at present.
2) A teacher (explained, was explaining, was being explained) the solution of equation ( уравнение) when the bell rang.
3) He (will work, work, will be working) on his project for the whole week.
4) Out-of-date equipment (was replaced, replaced, was being replaced) with a new one for a few days last month.
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IV. Match line in A with line in B.
	A

	B

	to take 
	efforts

	to bring about
	a problem

	joint
	measures

	to deal with
	changes



